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Chapter : Economics

(1) The demand for a normal good decreases with

in the consumer's income.
Tl QAT T 1 HieT # [TRTae, IS 1 3T &
_ &HEgEdrgl
SCCGL-22AUG-S2 : 26
(a) increase/gefer
(c) constant/f&2R

(b) decrease/fRTae
(d) double/gﬂ?-n

(2) Short run marginal cost curve cuts the short run
average cost curve from at the minimum point
of short run average cost.

ITCTHTCIeT HHT STl dsh, edehTallel 31 oeld ash
H__ A HeTeRIele 3T AR & gt foig N
FedT gl
SCCGL-22AUG-S2 : 27
(a) top/3IX

(c) righ’c/a'l'(’r

(b) below/fa=r
(d) left/aTd

(3) 'Neo-Malthusian Theory' is associated with which
of the following?

FI-HeY T [fetia Ao iad # @ fead dererd
87
SCCGL-08AUG-S2 : 26
(a) Employment/SiTR
(b) Poverty/aT{IaT
(c) Resource scarcity/FHTeeT I AT
(d) Income/3TTI

(4) Who takes the decision regarding the savings and
loan activities in a Self Help Group (SHG)?

I HEIAT og (THUSH) H Fad g HoT aifdraraar &
Heftrd Aot slet ar g2

SCCGL-08AUG-S3 : 26

(a) Private Bank/fRsl 8

(b)Reserve Bank of India/ARdrT Reid I

(c) Members of group/&#Hg & T
(d) Non Government Organizations/3I TXHRY TS

(5) Which among the following is not an account
under Balance of Payment?

TFATe e 3 & st AT 31T HJole oh 3Tl Teh
GTaT S8l 87

SCCGL-10AUG-S1 : 26

(a) Current Account/=e] ©TAT

(b) Capital Account/JsteTel @l

(c) Official Reserves Account/3TTIIR® 3RT&T @TaT
(d) Unilateral Payments Account/Teh-cl®hT AT
YTdr

(6) Match the following.
fArAfaf@a 1 fAerT Sl

Term/2sg Meaning/3t&

a. Process of reducing or removing
restrictions on international trade.

1£|oba|ization . o S
REGEARIER

b. Process of interaction and
integration among the people,
2. Privatization |companies and government of

orefeyoT different nations.
TafdeeT SRT & oI, SHeTeirar aqam

ehrehaoT < wfghan|

3. c. Called as denationalization or
Liberalization |disinvestment.

eieoT  (fRTEIgeRioT I fafaaer sgermar &)

SCCGL-10AUG-S1 : 27
(@) 1-¢, 2-a, 3-b
(c) 1-b, 2-a, 3-c

(b) 1-b, 2-¢c, 3-a
(d) 1-¢, 2-b, 3-a

(7) If the firm has zero costs or only has
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fixed cost, the quantity supplied in equilibrium is
given by the point where the average revenue is zero.
afe T ST oITaTeT e 81 31T dhalol T8
ST 81 A HcJolel & el sh HTHT 1 39 feig @R geffar
Srar g, fo| o 3iae ST o gl 81
SCCGL-21AUG-S3: 26

(@) Perfect Competition / quT Sfceaef

(b) Monopoly /THITIHR

(c) Oligopoly / 3TedTiIR

(d) Monopolistic Competition / TR TfaEaei

(8) The average variable cost curve is ___ shaped.
3iraa aRadt omeTa IR F A
SCCGL-21AUG-S3 : 27
(@ U (b) V (€ X

(d) W

(9) Which among the following is not a direct tax?
fAFAfaf@a & @ it a1 vk YcuaT FT AT 872
SCCGL-11AUG-S3 : 27

(@) Income tax/31MIhY

(b) Wealth tax/&afd T

(c) Corporate tax/araRe HT

(d) None of these/geTH & IS Tt

(10) In which of the following case, law of demand
fails?

fArafafaa &7 & fra aRkfeufa A, At &1 fFge 3w
& ST 87

SCCGL-05AUG-S3 : 26

(a) Giffen goods / fF=TERIT U

(b) Normal goods / Wa??ﬁ

(c) Inferior goods / ?ﬁUTai-_SI"(fV

(d) Both Giffen and Inferior goods / ﬁﬁﬁﬂ?aﬂﬁ
aar attor FEqU gt

(11) Match the following.
efafad & e fifer)|

From of Market / SITSTIX T 9shR Number of sellers and
buyers / TashaT3iT AT ShT31T &1 AT

1. Oligopoly / 3TedTfIs a.Large number of seller and
buyers

HcTTereh Tashal T Shall

2. Monopoly / ThTTER b. A few big seller and a large
number of buyers

Fo 3 fashar qur srcaftis shar

3. Perfect Competition
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quT ST c. Once seller but large number of buyers
Teh fashell T 3TcgTereh shll

SCCGL-05AUG-S3 : 27
(@) 1-b, 2-¢, 3-a

(c) 1-a, 2-b, 3-c

(b) 1-¢, 2-a, 3-b
(d) 1-b, 2-a, 3-c

(12) In which market form, a market or industry is
dominated by a few firms?

fRd YR T TR cTTEAT H, ISR YT 33T TN
Fo & a3t &1 adea grar &7

SCCGL-10AUG-S2 : 26

(a) Perfect Competitiondof Faeit

(b) MonopolyTaIf&R
(c) Oligopoly3TeqTfiet
(d) MonopolisticTahTTaIsR

(13) Which one of the following is not an instrument
of credit control in India?

fArAfaf@d # @ it A1 $7Ra & K0T fAGF0T &7 T
EERRE N

SCCGL-10AUG-S3 : 26

(a) Rationing of credit / 0T ol TIRTeT

(b) Direct Action / ETeft HRiarer

(c) Open Market operations / @W%W
(d) Variable cost reserve ratios / IRAdT a1
3RFeTe ATy 3regaret

(14) Which among the following is an example of
micro-economic variable?

AT & @ el | g 3T =R T Teh 3ereor
&7

SCCGL-10AUG-S3 : 27

(a) National Income / IS¢ 3T

(b) Aggregate Supply / el 3Tqfct
(c) Employment / RS EIIR
(d) Consumer's Equilibrium / NWTH@FIH

(15) Which of the following is called GDP Deflator?
eI & & SileT oI 31T, 3ATHIfThRe hgelar
&7

SCCGL-12AUG-S3 : 26

(a) Ratio of nominal to real GDP3TaTEdideh ¥ aredias

I3, T 3fegarT
(b) Ratio of nominal to real GNP3TaTEddeh & IEdidsh
ST dY. T 37T
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(c) Ratio of nominal to real CPI3TaTEdfd® & arEdfas
.37, T 3FegareT

(d) Ratio of real to nominal GNParEdfdes & 3aEdfds
SIRCRIRIK oI

(16) Which organisation monitors the banks in
actually maintaining cash balance?

el T TEAT AR IWT § Toh S IEAd H o1ohg, AT
SR

SCCGL-12AUG-S3 : 27

(a) State Bank of India / AR T I

(b) Reserve Bank of India / 9TRaT a1 s

(c) Grameen Bank of India / $TR<™r ATeToT S

(d) None of these / 3131 & IS T

(17) In a centrally planned economy, the
plans all the important activities in the economy.

eIl AISTATAGE IACTTEAT & 3Fefret

3 HATTEAT & Tl AgcaquT foharerarrdt & Arste
Tl & 1

SCCGL-17AUG-S1: 26

(a) Industrialists/3ereTafa

b) Citizens/=TRTRe

(
(c) Government/IIhIT
(d) Judiciary /=araarferet

(18) says that if we keep increasing the
employment of an input, with other inputs fixed,
eventually a point will be reached after which the
resulting addition to output (i.e., marginal product of
that input) will start falling.

_ %GdT g T 30PR & R 3T & ST A

T A €, ST 3 3T R &, &t v T & a1
o feufr 3mdeh 6 ured gie arer faferd smera (S
31T &7 HHATT 3cure) & FRTae 31T ol |
SCCGL-17AUG-S1 : 27

(a) Law of diminishing marginal producté‘lﬂﬂ'lﬁ?ﬁﬂ'i?—r
3cqg T

(b) Law of variable proportions/qm?ﬁaﬁmﬁﬁﬂﬂ
(c) The Short Run/3TeqehTel

(d) The Long Run/&rerehTer

(19) Who gave the 'General Equilibrium Theory'?
AT HJotel Faeeia’ et wfaarfee fmar ar
SCCGL-09AUG-S1: 26

(a) J. M. Keynes / of. TH. Sl=d
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(b) Leon Walras / faI3iTeT areRy
(c) David Ricardo / 3335 Repref
(d) Adam Smith / TsH f&ar

(20) In which market form, a market or an industry is
dominated by a single seller?

foRE YR T STTR STaEAT H, SI6TR H YT 3619 W
T &Y TaohdT T aUET gl &7

SCCGL-09AUG-S2 : 26

(a) Oligopoly / 3TedTiISR

(b) Monopoly / ThIT&R

(c) Duopoly / gaaTfasR

(d) Monopolistic Competition / TehIfeR gfaaarar

(21) Which one of the following is also regarded as
Disguised unemployment?

el ST 1 3N ford A1 & 31 ST 7T 82
SCCGL-09AUG-S2 : 27

(a) Underemployment / 379 JST9TR

(b) Frictional unemployment / FEY Heel SRISTIMRY
(c) Seasonal unemployment / FE#HY SIS
(d) Cyclical unemployment / ThIT SRISTITRY

(22) Which of the following rate is charged by banks
to their most credit worthy customers?

AT # & Slet H & ! garT H0T & v 319e
Ha 2 R & e e 2

SCCGL-11AUG-S1: 26

(a) Prime Lending Rate / sgsIdH 3UR &

(b) Statutory Liquidity Rate / TifaT&ieh dReldT &<

(c) Bank Rate / S gT

(d) Repo Rate / GeT&lE X

(23) Medium term loans are provided for a period of

HTmﬁﬁzUT e & 3 & T & S 8
SCCGL-11AUG-S1 : 27
(a) 1yearto 2 years /1 a§ & 2dy

(b) 15 months to 3 years /15 A A 3aY
(c) 15 months to 4 years / 15 AT 4Ty
(d) 1yearto 3 years/1a¥ & 3§

(24) An economic system combining private and state
enterprise is called as
Te 3MTRIH cgaed, fod sl o s & 39 &l

AT TS TN E, 96 Sl &1
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SCCGL-11AUG-S2 : 26
(a) Market economy STSIR 3T eTaTT

(b) Centrally planned economy &heaig &9 & Ao
JrdegaEen

(c) Private economy fasit 3rdfegarar

(d) Mixed economy TR 3r¥eaazar

(25) Which among the following is not an instrument
of fiscal policy?

fArfaf@a & @ @i a1 ve Toedia i & a7 78
87

SCCGL-12AUG-S2 : 26

(a) Taxation / STl

(b) Public expenditure / STeT eI

(c) Public debt / ofteh o1

(d) Credit Rationing / shfSe Irarfelar

(26) Which of the following equation is/are
INCORRECT?

fArafafaa # @ i a8 Geenor a8 6l o/e?
I. NI = NDP + Net Foreign Income

Il. GNP = GDP + Net Foreign Income

I1l. NDP = GNP — Depreciation

|. T&1.37T8 = T 3.1 + ety facelt 3

Il S.eT.dr = SirSndr + graer faceh 3ma
III. TA. 3.9 = S0, Y — 31Tt
SCCGL-12AUG-S2 : 27

(a) Only (I) and (1) / aharet (1) 3R (11)
(b) Only (111)/ hder (I11)

(c) Only (1) and (111) / Faer (11) 3R (1)
(d) Only (Il) / Faer (I1)

(27) Comptroller and Auditor General of India is
appointed for how many years?
HRA o [ aeeh Ud AgTer@roieTeh &l fAgfed el
aut & fore fr ST g2
SCCGL-12AUG-S2 : 28
(a) 2 (b) 4 (©6

(d)5

(28) Who is the custodian of Contingency Fund of
India?

HR & T TEARAT AT T TETH HieT g7
SCCGL-12AUG-S2 : 29

(a) The Prime Minister / JeITT&=T

(b) Judge of Supreme Court / Tafed =TT &

FgraTefrer

Free Study Material Join: Telegram.me/ExamsCart

(c) The President / Trsgafa
(d) The Finance Minister / e &t

(29) When there is only one buyer and one seller of
product, it is called situation.

ST T T &7 el Tah shell T T fashal Bl &,

GEEH feufa Feardr gl
SCCGL-09AUG-S3 : 26
(a) Public monopoly / ST=TdT TaTfaeR

(b) Bilateral monopoly / ZfaUaiT TSR
(c) Franchised monopoly / TashdT fa9I TehIfRIaR
(d) Monopsony / 53 &l THITUHER

(30) Which among the following sponsors Regional
Rural Banks (RRB'S)?

Arafafad & & sl e arefior o a1 grafaa
FXAT8?

SCCGL-09AUG-S3 : 27

(a) Reserve Bank of India / RdT Retd S

(b) Foreign Banks / faceiy s

(c) National Commercial Banks / TSEI arfoifede S
(d) Co-Operative Banks / TgHRT S

(31) What does indifference curve represent?
JTIETATC dsh ST GATAT 87

SCCGL-16AUG-S1 : 26

(a) Levels of Income and Capital / HI’JQTfI',\GﬁHH\’

(b) Satisfaction derived from two goods / & a&HJ3it &
(c) Income from two businesses / & IITIRT & UTId
T

(d) Relationship between expenditure and savings /
T JAT T I G

(32) After which five year plan, 'The Rolling Plan' was
implemented?

R TNl AT & 916 HAaRd ot (forer
TeTeT)’ ol oITe] feham aram am?

SCCGL-16AUG-S2 : 26

(a) Third Plan ey drster

(b) Fifth Plan 9T=rdY J1StaTT
(c) Seventh Plan ITadT JST=TT
(d) Ninth Plan #idY aeter

(33) Which tax causes a burden on the poorer section
of the society?
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leT-AT T FATST b IR A0 & FHSA R ST Feler
&2

SCCGL-16AUG-S2 : 27

(a) Direct Tax IdI&T T

(b) Indirect Tax 3THdT&T T

(c) Both Direct and Indirect Tax YdI&T &Y AT ITTT&T
Eory

(d) None of these 3T & HIS 7Y

(34) In which of the following market forms a firm
does not exercise control over price?

AT 7 & fFd IR & IT9TR & Teh gy @9
S Y e e o 3 e &7
SCCGL-16AUG-S3 : 26

(a) Mixed Competition / TR goeT

(b) Monopoly / THIfISR

(c) Oligopoly / 3teTdTfaRR

(d) Perfect Competition / qof Faeff

(35) Which of the following is represented by 'Lorenz
Curve'?

AT F & AR ash” HAT GATT &7
SCCGL-16AUG-S3 : 27

(a) Employment / TSR

(b) Inflation / Wﬁ

(c) Deflation / 3raeehIfer

(d) Income Distribution / 3 faaor

(36) The exchange rate is the relative price
of foreign goods in terms of domestic goods.
fafrerar ax & awg & w9 o facelh awgait
T ATIGET FIAT g |
SCCGL-17AUG-S2 : 26
(a) Avrtificial / I
ik
(c) Fixed / forerf=ra (d) Real /
EIESICED

(b) Nominal/

(37) is an alternative way of representing
the production function.

Joholleh 3UTT ¢
SCCGL-17AUG-S2 : 27
(@) The Short Run / 3Te[ddhlel

(b) The Long Run / &rerehTel
(c) Isoquant / EHTeT HATAT
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(d) Average product / 3iad 3q9TE

(38) In a market system, the central problems
regarding how much and what to produce are solved
through the coordination of economic activities
brought aboutby ____ signals.

SR A #, 3o She 1T GHAGATIT T FATUTH fohey a8 ]
&1 3R foFe AT 7 3quTe T I g,
saﬁrm%aﬁmgvmﬁwmﬁasmﬁ
g gl
SCCGL-17AUG-S3 : 26
(a) Supply / 3fet

(c) Price / AT

ISR

(b) Demand / &1
(d) Stock Market / =IT

(39) says that the marginal product of a
factor input initially rises with its employment level.
But after reaching a certain level of employment, it
starts falling.

TGl & T HIHIT SUTG T HRD TN H
FATT o A1 TG0l TR &, ST AT & TAT9T AT T
[EECK
SCCGL-17AUG-S3 : 27
(a) Law of diminishing marginal product / grRHTeT
(b) Law of variable proportions / aR@cil 3fearet ferzrer
(c) The Short Run / 3TeldehTel

(d) The Long Run / &rerehrer

(40) The closest example of a centrally planned
economy is the for the major part of the
20th Century.

Sl FéY T Ueh ST AL Tk el ArsTeATeee

SCCGL-18AUG-S1 : 26

(a) USA T TH T

(b) India #ART

(c) Soviet Union &tfaad g
(d) Japan SITqTeT

41 is the relationship between the
variable input and output, keeping all other inputs are
held constant.

afafa # 9 317 T 3merdt s gk @ av|
SCCGL-18AUG-S1 : 27
(a) Total product Pel 3dUTE
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(b) Average product 3iad 3q4rg
(c) Isoquant HHTeT HTAT
(d) The Long Run &Yderrer

(42) From which of the following, is the GDP of a
country not derived from?

AT 71 & R &2 T Tehel Tl 391G ST 78T
gIe 87

SCCGL-18AUG-S2 : 26

(a) Agricultural sector / Eljﬁa%'al?

(b) Industrial sector / 3ieaIf &7

(c) International sector / 3IRTYEIT &1

(d) Service sector / TaT &3

43) is the set of all possible combinations
of the two inputs that yield the same maximum
possible level of output.

34T &Y 39Tt & iR T e gl &, Sifeh
AT 3Thde THTAT TR FT T I T &
SCCGL-18AUG-S2 : 27
(@) The Short Run / 3Tcldehlel
(b) The Long Run / &erehTel
(c) Isoquant / EHTT HATAT
(d) Average product / 3id 39dig

(44) The exchange rate is the price of one
unit of foreign currency in terms of domestic currency.

fafererg &= 7T o w9 & fagel #er i vk
ZH1S HIAT L

SCCGL-18AUG-S3 : 26
(a) Avrtificial / I
Hihfas

(c) Fixed / forerfaa (d) Real /
CIGGICED

(b) Nominal /

(45) of an input is defined as the change in
output per unit of change in the input when all other
inputs are held constant.

HROT et 7 IRade giar &, 8 T 3113 379 g2
T IAT g, FgT AT B |

SCCGL-18AUG-S3 : 27

(a) Marginal product / HY#ATd 391Gt

(b) Production function / 3d41és Hefel

(c) Total product / EERSICY

(d) Average product / 3 d 3durg
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(46) The collection of all possible combinations of the
goods and services that can be produced from a given
amount of resources and a given stock of
technological knowledge is called the of
the economy.

ST AT ShT ATAT AT ST T ehT el &
EART Scarferet T ST Hehel aTell Tefl aecf3it 3R Jamait
& welt Fenfad Tl & wog 1 rdqgaHAT FH

SCCGL-19AUG-S1: 26
(a) Resource Probability Set / THTHA THTGIAT JT

(b) Production Probability Set / 3ddTEeT THTTIAT AT
(c) Resource Possibility Set / TATET THTGT AT
(d) Production Possibility Set / 3ddTsT HHTTSAT AT

(47) If at a price, market supply is greater than market
demand, we say that there is in the market at
that price.

Ife Teh AT IT, SR TSt STeTR AT & 3 §, o

SCCGL-19AUG-S1 : 27
(a) Equilibrium / LEEGE

(b) Excess Demand / 31f&&TaT

(c) Excess Supply / TRl

(d) Marginal Revenue / E&d Turqfa

(48) In which year was All India Anna Dravida
Munnetra Kazhagam (AIADMK) founded?
3iTer ST3AT 31T & A8 HAT a1 (TS U S A ) B
T o a4 g7
SCCGL-19AUG-S1 : 28
(@) 1949 (b) 1999 (c) 1972

(d) 1997

(49) In India the reform policies were first introduced
in which year?
R 3 3fe G i g a ser Hr ariy?
SCCGL-19AUG-S2 : 26
(a) 1951 (b) 1971 (c) 1991

(d) 2001

(50) The of a firm is a relationship between

inputs used and output produced by the firm.
3OST H A 31T 79T T2 A

EaRT Ut fasTal & Fe ol TaAa-e &7

SCCGL-19AUG-S2 : 27

(a) Marginal product / HYHATT 3d9Te,
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(b) Production function / 3d4TésT ®elel
(c) Total product / &el 341E
(d) Average product / 3iad 3q4TE

(51 A deficit is financed by net capital
flows from the rest of the world, thus by a capital
account surplus.

& ©Te T At & I foiarel Iait yare &
T A forar ST 8, 39 YR ol @ 3nfsa 4 |
SCCGL-19AUG-S3 : 26
(a) Current Account / |Te] oim
(b) Savings Account / ST oI @T
(c) Capital Account / GafiaTel ar@r
(d) Asset Account / 9T of@T

(52) is defined as the output per unit of
variable input

&1 AIAT T STt IR AT & F9
gRTNT fohar STar B
SCCGL-19AUG-S3 : 27
(a) Marginal product / HI#ATd 3d9TeeH
(b) Production function / 3d9TGe Helel
(c) Total product / &el 391
(d) Average product / 3irad 3qure

(53) The demand for a normal good increases with
in the consumer's income.

el TTATeTT T T HTIT H Fefe, ISR Y 3T H -

SCCGL-20AUG-S1: 26
(a) increase / gefer
fRTae

(c) constant / TR

(b) decrease /

(d) double / gareTm

(54) Short run marginal cost curve cuts the average

variable cost curve from at the minimum point

of average variable cost.

3TN WA 1T ash, 3T IRad o1 ash i
b 3ie aRaT AT o gt foeig )

Feargl

SCCGL-20AUG-S1: 27

(@) top / 3

(c) right / gIT

(b) below / =
(d) left / ST

(55) A commodity market has a structure, if
there is one seller of the commodity, the commodity
has no substitute, and entry into the industry by
another firm is prevented.

Free Study Material Join: Telegram.me/ExamsCart

I aE T Tl &Y Tashall 81, %] T IS TUTATeT el
BY YT ST 3 377 AT T FaT aforet g1 ol 36 a&q
STOIR fof e FHEA T |
SCCGL-20AUG-S2 : 26

(a) Perfect Competition / quT wfareqef

(b) Monopoly / TR

(c) Oligopoly / 3TeaTf&R

(d) Monopolistic Competition / TR Tfaeae®

(56) The short run average cost curve is ___ shaped.
HeUehTelleT 3G I ash R H Y|
SCCGL-20AUG-S2 : 27
(@ U (b) V (o) X

(d W

(57) The demand for a inferior good decreases with
in the consumer's income.
Ty T E eI g & #7191 & faRrae, 3usiepdr
& | gIe B
SCCGL-21AUG-S51: 26
(a) increase / gefer
FHAT

(c) constant / TR

(b) decrease /

(d) double / gareTm

(58) Goods for which the quantity that a consumer
chooses, increases as the consumer\'s income
increases and decreases as the income decreases are
called?

TR T ToTeTehl T0eT ST Xl 8, SHhT AT 7
&1 BNl &, STer 31m 3 et 8ell & 3N e By AT A
FY T § | ST 3YNBAT T 3T H AT 37T &, HAT
FHEAAT 67

SCCGL-21AUG-S1: 27

(a) Inferior goods / ﬁﬂﬁ'ﬂ?—mﬁaﬂg‘q

(b) Normal goods / ARG 98T

(c) Complementary goods / Q& dHJV

(d) Substitute goods / HUTITIAT THIT

(59) The demand for a inferior good increases with

in the consumer's income.

ol TAHAGRI aE 1 AT & gefr, 3usiiehar

SCCGL-21AUG-S2 : 26
(a) increase / efer
FHAT

(c) constant / TR

(b) decrease /

(d) double / gare

(60) Goods for which demand move in the opposite
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direction of the income of the consumer are called?

q FHU foteteh foTw AfaT 3usiepar & 3 v faodi fear
A Fecd § BT Hgelrd 87

SCCGL-21AUG-S2 : 27

(a) Inferior goods / A= ERIT FHIT

(b) Normal goods / HTHTT THJT

(c) Complementary goods / WW

(d) Substitute goods / Fmaﬂgﬁ

(61) The balance is the sum of the balance of
merchandise trade, services and net transfers received
from the rest of the world.

QY FieT qAMIR, JaT3it AR A ge@ & A
3AROT HT AT AT & |
SCCGL-22AUG-S1 : 26
(a) Current Account / |Te] oiT
(b) Saving s Account / Iad oid@T
(c) Capital Account / GaTIeTd er@r
(d) Asset Account / FOfa or@m

(62) The relation between the consumer’s optimal
choice of the quantity of a good and its price is very
important and this relation is called the

function.

el g T AT o ToIT 3usilepell 7 SYedd == T
3HH FIA H FASAY S FEATYOT & TAT TE

SCCGL-22AUG-S1 : 27
(a) Price / &1\
gfaqarae

(c) Supply / 3mafct

(b) Substitution /

(d) Demand / &TaT

(63) The balance is equal to capital flows
from the rest of the world, minus capital flows to the
rest of the world.

A, faera & glet drel Yoilard ware, A favra &r
gIeT aTel YaTg o geld & s]IsR gt ¢ |
SCCGL-22AUG-S3 : 26
(a) Current Account / ®Tef er@r
(b) Saving s Account / ST oi@T
(c) Capital Account / GST1aTd or@r
(d) Asset Account / T9f of@T

(64) If a consumer's demand for a good moves in the
same direction as the consumer's income, the
consumer's demand for that good must be inversely
related to the price of the good is called

Free Study Material Join: Telegram.me/ExamsCart

1f el ey oI Ssiepa i aar 0 foem o & oy
&I & 3T 1 37 & o 39 T & ToIT SR Y
AT T 3ET H1AT & T AT Fa glar g, 39

- FET AT ¢

SCCGL-22AUG-S3 : 27

(a) Law of demand / 13T &1 faTs

(b) Law of supply / qfct &1 s

(c) Law of substitution / IfaqTI=T &1 ATeT

(d) Law of optimal choice / $SecT# eTa I oz

(65) The change in the optimal quantity of a good
when its price changes and the consumer’s income is
adjusted so that she can just buy the bundle that she
was buying before the price change is called?

Ty ac] T hTHe & TRaclel el IR 3R Susilerdm &hr
37T &l 3 JhR THII ST el UX T g 3T Ul i
Tlie, g [ 9 Hrad & IRad & uger @lear 2,
TEG Y STCAH AT H §U ARG T T gl ATl &
SCCGL-23AUG-S1 : 27

(a) Law of demand / 13T T RTs

(b) Substitution effect / IfaEATIT T3TTa

(c) Problem of choice / FeiTd T F&EAT
(

d) Optimal choice / g5¢dH AT

(66) In , the short run equilibrium results in
quantity produced being lesser and prices being
higher compared to perfect competition.

# 3TcuehTellel Hlolel & TRUTHEEEY qoT
STt Y JoIelr 3 SedTget I AR F el § 3R
AT Y g gl
SCCGL-23AUG-S2 : 26
(a) Monopsony shdT TahITahR
(b) Monopoly TeTfEwR
(c) Oligopoly 3eaTiRIHR
(d) Monopolistic Competition TehTTaIpR gfaeast

(67) The average product curve are inverse ____
shaped.
AU IAE_ FIER AR
SCCGL-23AUG-S2 : 27
(@) X (k) W (Vv

(du

(68) The marginal product curve is inverse ____
shaped.
HHATT 3cUTE a% 3ol & AR A B
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SCCGL-23AUG-S3 : 26
(@ X (b)y W () V
(d) U

(69) Goods which are consumed together are called?
oot arecq3it o1 Ay 39er famar Sirer § 3¢ gt STl 87
SCCGL-23AUG-S3 : 27

(a) Inferior goods fAFTEalIT a&qU

(b) Normal goods HTHI=a TEJT
(c) Complementary goods WEF?:’FU
(

d) Substitute goods FATATT+ TEJT

(70) At which rate, Reserve Bank of India borrows
money from commercial banks?

RH eT WY, IR Rord s« arftiey &« @ 9= 39 oar
&2

SCCGL-05AUG-S1 : 26

(a) Bank Rate S 2T

(b) Repo Rate YaY &
(c) Reverse Repo Rate Rere Y &%
(d) Statutor y Liquidity Rate Tifaf&ieh dXeldl X

(71) Movement along the supply curve is known as

IYfd Gk F WA-WA TAA R Fgd ol
SCCGL-05AUG-S1 : 27

(a) Contra ction of supply mq\f?rafmgm?r

(b) Expansion o f supply mq\%ﬁﬁmw

(c) Increase in supply mqﬁﬁaa’mfr

(d) Expansion and contraction of supply mﬁﬁ
faEaR aur dae

(72) The curve represents the demand of all
consumers in the market taken together at different
levels of the price of the good.

____ T STSTR A Gl U3 BT AT ht a¥( ]
HrAT & TAfRsT TRT IR THT T T S@HT AT
EARGETGIR
SCCGL-06AUG-S1: 26

(a) monoto nic Tehigse
dcE

(c) market demand ST AT

AT

(b) indifferent

(d) diminishing

(73) The market structure called monopoly exists
where there is exactly seller in any market.

Free Study Material Join: Telegram.me/ExamsCart

IR T Hdad _ Ashargiarg, 39
THINFR FET & |
SCCGL-06AUG-S1 : 27
(a) One Teh

(c) Five 9=

(b) Two ar
(d) Teneqa

(74) For a price taking firm, average revenueis ______
market price.

HAT-EAHRE B Sl ITT GITTCT TR HrAdT
___ @drgl
SCCGL-06AUG-S3 : 26
(a) half of & 3mefr

(c) double of & garaT

(b) equal to & ST
(d) less than & &

(75) The study of individual markets of demand and
supply in which the 'players’, or the decision makers,
were also individuals (buyers or sellers, even
companies) who were seen as trying to maximize their
profits (as producers or sellers) and their personal
satisfaction or welfare levels (as consumers) is called?
AT 3R et & AR STIRT 1 TETAT Foraa
“37TT2ieR 31fFeRT a7y aTer o1 vierhat o swfFa e &
(@{ETr A1 fashar shufaar 8 ), ST 319 ST T
31TARAA et I FRIARM A © (ST 3caTges AT fashar
)3iR SaTehl SATFAIN HITSE AT HeAT0T T T
(STHIFATIT o F9 # )FIT Fgald & |
SCCGL-06AUG-S3 : 27

(a) Macroeconomics @H e 3rfmeT

(b) Econometrics 3R

(c) Microeconomics afse 312RMET

(

d) Heterodox Economics §e0sTerd 3721

(76) Which one of the following is a component of
Food Security System?

ArAfafad & & Sid —a1 @Y YoTrelY &I g §?
SCCGL-08AUG-S1: 26

(a) Buffer stock / &I HSR

(b) Minimum support price / #gedH FHIH Hod
(c) Fair price shops / 3Id o foh gepret

(d) Mid day meals / FEATeg HisTel

(77) What is the accepted average Calorie
requirement for rural area in India?
AR 3 FroT 817 & FIT 3maege 3ad Hehdr fhden §

?
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SCCGL-08AUG-S1 : 27
(a) 2100 (b) 2200 (c) 2300
(d) 2400

Answer Key
1 |B|2 |B3
7 |A[8
12|C|13
17|C|18
22|A(23
27|C(28
32|B|33
37|C|38
42(Cl43
47|C|48
52|D|53
57|A|58
62|D|63
67|D|(68
72|C(73
77|D(78

(78) If the firm has zero costs or only has
fixed cost, the quantity supplied in equilibrium is
given by the point where the marginal revenue is 6
zero. 11
R T &Y AT [ 81 37aT el [ 16
I &1 il FcfoleT H et T AT b1 39 faig g=iar Sirar 21
¢, fore o1 HieAid wwnfee o gl & 26
SCCGL-20AUG-S3 : 26 31
(a) Perfect Competition qot gfcreqef 36
(b) Monopoly THIfIHR 41
(c) Oligopoly 3reaTfaIsR 46
(d) Monopo listic Competition TR Ffaeaet 51
56
(79) The short run marginal cost curve is ___ shaped. 61
3TeUdhlellel HIHATT AeTd dsh MFRH BT B 66
SCCGL-20AUG-S3 : 27 71
(@u (b)V (0 X 6
(d)w

Now[>(m|(w[>|Ao[0ojo(w([>|Oo[Nn
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